e >0.5% o Absent
100
c
L 80
o
2 60
g 40
e
K 20
0 = 33 X D S oS S X
0 2 4 6 8 O 10 20 30 40
100
c
L 80 ]
o
S 60 1
T 40 l
=4
'g_) 20 1
0 (SS, S EXFRC) 30
-40 -30 -20 -10 -30 -20 -10 0 10 20
Temp. Coldest Month (deg C)  January Temperature (deg C)
100
c
L 80
o
2 60
g 40
e
K 20
0 ‘ * (& FHIO <,
0 02 04 06 08 1 O 1 2 3 4 5
Moisture Index (AE/PE) Annual Precip. (mm) X 1000
40 : _ 500
) <0.5% IS =
o E 100} £
@ B e 05-1 | | |1 = = |
- 30 c 250
~ o 1.5 9 o
© = =
g 20 1 18 S 0f 1
g . © 10+t g \
GE) S K %800 o D>_\ ‘CI_J
~ 10 1 1 8 €.250 1
> =] €
=] c )
3 < ]
S
0 ‘ ‘ 1 A -500
3 4 5 -40 -30 -20 -0 O 10 20 1 10 100 0 10 20 30 40 50
Annual Precip. (mm) X 1000 January Temperature (deg C) July Precipitation (mm) Summer - Winter T (deg C)
Dry o Absent Wet
100
c
2 80 1 1r 1r
o
2 60 1 1T 1r
§ 40 ] ] 1}
=
e 20 1 1 1
0 =2 =2N
20
)
g 10 1 11 . 1t o’
3 ..0@ . K oooo
< 0 o(g 1L o(“;’s o 1L 8000 ° 11 ‘0(:0 ° 0Cp
S g o & &5 o 8 o, ©
(o] 3 o ° uo o(&g
= o oco ° oo o < QV
7 -10 ° 1 |e#® <o 1| 1L ‘ggo
% »° o >50 g of 000 8 ]
S -20 o 15 8.¢ ©Q
o 1 €20 { [9c® 1
a ® o o 051 0
g oo (11
E -30 A <0.5% i 1 le
0 AE/PE: <0.55 AE/PE: 0.55-0.75 AE/PE: 0.75-0.85 AE/PE: 0.85-1.0
0 2 4 6 8 0 2 4 6 8 0 2 4 6 8 0 2 4 6

Ericaceae (undiff.)
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